10

B ANE, 2=7 50kgfk(BVYk)

W A B o A VRIS

PO

2-0 2:00 JPO
N s T ¥ EE [H 70 1:06
/N ) AR E AR TERS IR T 0i00
N NP y 0-6 1:09
Y o, N Y /E\
H = K EER AR =N PRI 50 2:00
U e e 7-0 0:38 PO
B[ % 72 B EETREEER TR
W o~ —
B ANE; 21 =755kgfk (BYyt)
Mk Fil KARFR g WD —
0-1 2:03
PN . " e e 0-2 2:00 PO
(o IKF 22 &% Al REREEK A
7-0 VT
g . 0:58 0-2 2:05QpP
AN =) AR AR BEE R —— , .
3-0 2:00
EOW oA BPETREE TR — 0w
N S . e N - 1:39 PO
G/ N A ek RITATE P4 e 2 RIS IR o B,
L, f ks ¢ FE 5-0  2:00
=i I TN KIREAR HER IR P
N, N “ e L 0-6 1:26 ST
B FH JEE 5 5 B AR IRk )
1-0 2:03
§ e . 2-0 2:00fpp
I 7n =¥ === N —
JIL & K] KIREAR HER IR 6 200 B9-9 9:00
e e 0-7 1:34[p0
(H BE 3k JEIR T3E TR LAY IR =l 20
—n NP L 0-4 0:55QVT
e Y A T IR —
A4 (Y o~ —
B ANE >2=760kgfh (B<vk)
&= Y HHBEAKREEK KR
4-0  0:43
& B Ul 3 By EFEESR P Pp =
3-4 2:00
=R i) TEWAESE mR BER 40 2:00 ) .
0-3 2:00
e 0-3 2:00
Sl B A ERERR LAY IR .
0-6 1:22
~ NP N 0-5 0:27 IST
4 4 ’g; T re i K /E\
TR AN | EER AR =N PRI -0 2:00lpo
- A\ Ve 2 5 I 5-0 1:29
ol i A FAUSFENER 2 IR =<7
82 0:38

vroE OB BRESEEEE ARIIR

PP

PO



o~ O

BANEE ~a—766kgik(BYyh)
HE =R Vo X £}
L oEOE Ik K RIS IR ——
I A AR = T
3-2 2:00
s BB M ot eememk gEn el
i L e 3-0 2:00fPO
1Y2 ;’B i =0 vy Fie |H
4 Ik o REELEEK TER 10 2:00
5 A ME N kmEEm mmg T
- . v 2-0 2:00[pPP
6 [ &8 I I X AHREERE BRI 5035226 2100
. e e g 0-6 0:20ST
7 E EE] = k%%@@& %/‘?\%B 2-0 2:04
s OB ki e —— o
= m a oy e R “ 36 2:00
9 Bk L B I RATHEIFHEAE PIAR ———emy =
0WE B H ¢ MEEkmsk ws)el 200 oo 900
L K % R Bk D b
0-4 1:11 070 198
N —I. % =R Vo 3 |H .VT
12 kb B T T R
1310 B2 B O AARKREHEREE )R
BAE oa2=774kgfh (BIYh)
LB Ok B K o bk et —
o NIl Ve I TEREEREEE BER mH 113 1sp
3 /%\ 7|:T % Z&Bﬂﬁ:ﬁ%%k BEFE IR 0-7 1:54 .PO 1-0 23.00 PO
6-0 1:43
N N Y Zi =W g . H
4 KA A R FITTATS 78 e % BERS IR s——Tr0
. . e 40 2:00
5 3 3 B Of eAmEEE T oo
N N P S 1E 6-0 0:50
6 fx i B/ M EEFREK ES2EN 60 031 Ist
T W % e friee TR 60 1:00
B A T R SRIT 1] p— e
3-2 2:00 i 70 139
9 B om oo A\TFTARREK TIER MM 500
1-3 2:004PP

10 M A

R EYESIERaY

PRI

VT



BN 1 =7 84kg#k (BYYH)

o & At ks TR —— BYE
=7 0:50 0-4 0:31
WM ks SRR pye |1 ——
H b U BE B ATEKEEIS SN REE BYE - S
BAE oa=7 96kg#k(Bvyh)
EER = ] NI £ |H
s B REEeR THER —_—
A = S e p e 7-0  1:42
L % g0 Hzlgj:%j(%%ﬁ]ﬁl—ﬁx ﬁ»‘?‘x%ﬂ 1-0 2:00lpo
T EE HL kg s 1l [H 1-0 2:00
ok R & 2NN (AL I 00
wOE R KEMEESE BER 02 200 P
B AEL a=7120kefk (B<whk)
WS OB el BER
0-7 1:28
. - e . VT
/> v :—L»'mui-El = =
& WL KBS BARTHER PG EEL AU 5 oolvr
= 5 e o 3-0 0:56
ol - ST REEEmE S
W A Bk KEEEER BEER 1, s
0-1 2:00
WOE K B AARKFIRRER IR L) 5
0-4 2:000PP

o ose K mIETEAR THER

&



